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VERSION 01
MARK TEST NUMBER. 01 ON YOUR SCANTRON

STUDENT NAME

STUDENT ID

RECITATION INSTRUCTOR;

INSTRUCTOR:

RECITATION TIME

INSTRUCTIONS

1. Fill in all the information requested above and the version number of the test on your
scantron sheet. '

2. This booklet contains 12 problems, each worth 8 points. There are four free points.
The maximum score is 100 points.

3. For each problem mark your answer on the scantron sheet and also circle it is this
booklet.

4. Work only on the pages of this booklet.
5. Books, notes and calculators are not allowed.

6. At the end turn in your exam and scantron sheet to your recitation instructor.
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1) What is the most suitable substitution to calculate the integral

/\/9m2~4
—— dx?
z

A) 3z = 2sind

B) 3z = 2tand

C) 3z = 2secf

D) 25 = 3tanf

E) 2z = 3sind

2) Which of the following integrals do you get when you make a suitable trigonomet-
ric substitution to evaluate

dz?

xS
Vi—z?
9
A) f S(::)lse
B) [ tan®@secd df
o [ 00
D) [ sec* 6 df
E) [sin®6 df




3) Evaluate the integral

N5 3
B) T+ 3
0§~ 8
D) 5 — 4
B) T+ %
4) The form of the partial fraction decomposition of i?:——lg i

Cax+D
) 2—2 + :u+2 + 244

) A.'v-!—B Cxz+D
x24+4 (332-{-4)2

A Cz+D
C) a:—-4 m+4 + &2 -4
D) —4 T @ :v2+4

A
E) a:~2 a:+2 + a;2+4
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5) Evaluate the integral

/amﬁmdm
s (I4+2)(z—1)
A) 1/2

B) In(2/5)
C) In(4/3)
D) 2103

E) In(8/3)

6) Use the formulas on page 1 to compute

/1 dz
0 42 4+ 9




7) The indefinite integral

/oo-——Cix—-—i equal to
. o((mz)E 1) oo

|
E) 3eln2 E
i
l

8) Find the length of the arc of the curve y = $2°, with 0 < z < 1.

Hint: Use one of the integrals on page 1.
A) W2+ im(2+V7) |

V2

Q) 32+ 1in(1+v2)

D) V2 +1In(2 4 v/2)

B)

MO

E) 12+ Ln(1 +v?2)
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9) Find the area of the surface obtained by rotating the curve y = %m3, 0 <z <1, about
the x-axis.

A) 2r(+v/2—1)
B) 2n(v2~3)
C) 2n(v/3- %)
D) §(2v2~1)
E) §(2v2 -3

10) Find the z-coordinate of the centroid of the region of the first quadrant bounded
by y = 1 — 2%, y = 0 and the y-axis.

A) 7/12
B) 5/14
C) 5/8
D) 4/9

E) 3/8




11) The limit of the sequence
o = (2n+1)!
" n2(2n — 1)
is equal to

A0
B) 4
C) 3
D) 2

E) The sequence diverges.

12) The sum of the series
X, on+l

371.

=2

is equal to
A) 8/3

B) 7/9

C) 10/3

- D) 2/3

E) 4/9




